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UL
= 1 55, 873, 695
M S B T
= 1 39, 486, 018
E¥+ T
= 1 6, 267, 887
[ A
= 1 33,218, 131
TR G AL B RS e RIRE 2m<L=<bm tA/h
RIE{EATT0ke/m3 K LHIFE 1806
m3
m3 1, 806 3,919 7,077,714
TR G AL B LS S RIRE Sm<L=8m %}/
MRIE AT T0kg/m3 Jih THIRE 728
3
m3 728 3,991 2,905, 448
TR G AL B LS REE 10m<L=13m Y
AN RIEAEAT T0kg/m3  fiE T AU 5
77m3
m3 577 4,033 2,327, 041
TR G AL B FMES 90 > 151 H B GEE
Im<L=2m ti/}RE{LA280kg/
3 i LHIKE637m3
m3 637 9, 628 6, 133, 036
TR G AL B FEMES 90 o2l H B GRE
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FERREAY AT 947 740~0 BIE 0. 2m

m2 100 1,499 149, 900
¥ Layy)-}h 18-8-40 (F47) BWJE 10cm

m2 100 4,099 409, 900
eV 24-12-25(20) (% JF)

m3 155 30, 456 4,720, 680
A5 SD345 D13

t 1.73 150, 693 260, 698
ERAR SD345 D16~25

t 4.42 148, 876 658, 031
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t 8.7 149, 784 1, 303, 120
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T 66 701.2 46, 279
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T 63 888.3 55, 962
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= 1 2, 746, 800
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= 1 1, 470, 720
H Hi VB HAMEE B HAR t=10mm

m2 20 3,672 73, 440
KN A7 —ME  VP-T5

= 1 37, 536
W H U BE RS t=50mm

m2 19 8,713 165, 547
HEkb % & BHREUKE  WEER Vxfv/ g (v

77 vERE) ¢ 100
m 23 972 22, 356
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= 1 3,715
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m2 650 191.3 124, 345
TEHRALER T
= 1 365, 706
Prau kil T AT 7V Rk
m3 33 3, 369 111, 177
Prau kil a7 Y — bk ()
m3 14 1,669 23, 366
ALy TAT 7V bk
m3 33 4, 269 140, 877
ALy av)) =gk (JER)
m3 14 5, 336 74,704
A F R T Gr-C-4E
= 1 15, 582
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AEE T
= 1 3, 555, 328
ZRFE AR B
= 1 3, 555, 328
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= 1 55, 873, 695
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= 1 7,319, 471
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= 1 2,676, 956
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= 1 1, 704, 042
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= 1 1, 704, 042
Htre m
= 1 367, 053
EREEY v THESYTRA R 33EA
= 1 320, 643
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= 1 46, 410
BUGERRYCEE (K5 1)
= 1 605, 861
MR R (B L)
= 1 4,642,515
Wi
= 1 63, 193, 166
BTk X=giiv oy
= 1 18, 163, 128
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R 5]
= 1 81, 356, 294
— e
= 1 14, 073, 706
T HAlik
= 1 95, 430, 000
THE B 2 %8
= 1 9, 543, 000
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= 1 104, 973, 000
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